8&H
1-2
ol
L] 5iR
75
AFRR 4
kR =R 1
61 3-4
13/vith
13-1
ki )
64 5-6
-
1Fik 4
83 7-8
—— Q{Eﬁg
9-1
5{Rk
- 9-10
1285k H .
3R
83 11-12
8&H
5-8
8&H 2
75 13-14
1288 M 5
84 15-16
312H
1-4

128%H

I2BA T & FT o TR
1 O8kH E#]  (AAC)
2 bye

3

4 IR T

5 @i AL

8 4 FH

9 1k Sk

10

11

12 @8k H 1678

13 /it BT

14

15

16 @ik ~V7

(Z7%—TA)

(WBF12=7TC)

(B.I.TENNIS)

bye

bye

(BFY2=7TC)

(Z7%—TA)

bye

bye

(MBFn 2=7TC)

(MBFnY 2=7TC)

bye

bye

(Z7%—TA)

1-1

F2TEK AR 2 =T BFERS

YRR265E5H31H~6H1H
FK H IR A7 SN
2-1 .
80
3
97
3-1 .
80
2-2 2
84
po el
2-0
(6-0)
(6-0)
- 12
81
- 16
85
oy 16
80




8=1E

REHER

RESSI

REAER

58K
1-2
5iR
- 3EER 3
8,%*% ULl 1 ——
64 3-4
13[7H
13-16
1271 )
61 5-6
12T W
4
7-8
12T
8E=1E
1-8 9-10
3R
11-12
58K
5-8
58K 5
62 13-14
9F7 iR 5
62 15-16
4RH
1-4

12U T B F TR

1 OE 4

3 PEHS =AY

4 DRI ol

5 @A BET

8 it ik

9 Bph i

10

11

12 @F 5

13 JRUH f5HE

14

15

16 Q1 JHE

(TZ7o%—TA)

bye

(T7ox—TA)

(7% —TA)

(BF 1)

bye

bye

(TZ7o%—TA)

(TZ7o%—TA)

bye

bye

(7% —TA)

(7% —TA)

bye

bye

(AAC)

F2TEKA RV =T RFHERS

SERR264E5A31H~6A1H
K H RS P RAR
2-1 L
81
4
1-1
86
3-1 .
81
2-2 8
98(5)
0 1
2-0
7-6(0)
7-6(4)
2-3 2
98(1)
- 16
85
- 16
82




8fR ik
1-2
145 H
— 5k
63
148 4
14—
61 3-4
—— {475 H
13-1
145 H 3
61 5-6
8
5K R 5
84 7-8
9— 9/|\jEE
— 5K
— 9-10
1285k H .
—_— 3R
81 11-12
— SR
5-8
817 ik . 13
64 13-14
1285k H 6 38K
83 63 15-16
—— ok
— 125
-16
1-2
6107 : 4
61 3-4
607 sk 5
KERR 5-6
5%
]
76(5) 7-8
3A .
i 5k 3EH
ERBR 1-4
3BEH

4R T FT T NVA
1 OKE €% (B.LTENNIS)
2 bye
3 gk K (AAC)
4 s (Z7%—TA)
5 @WK i (7% —TA)
6 bye
7 bye
8 itk Hi (EF1Y 2=7"TC)

9 /INHE B

(HEFn2=7"TC)

10 bye
11 bye
12 @%kH HI (77 F—TA)
13 ffR AT (B.I.TENNIS)
14 #HH A% (AAC)
15 bye
16 @Il % (AAC)
14U THBF T NA
1 OFRFI (AAC)
2 bye
3 A BEE (Z7%—TA)
4 HAE B (7% —TA)
5 {FE KA (BRI R )
6 Nk {5k (Z77v%—TA)
7 bye
8 @fF L (ZrrF—TA)

F2TEKARY 2 =T BFHERS

YRk265E5H31H~6H1H
FK H IR AT S/
2-1 1
80
1-1 3
83
3-1 !
83
2-2 2
84
" 1
2-0
(6-3)
| (6-1)
- 12
81
- 16
83
14
1-2
82
oy 16
81
2-1 !
82
1-1 >
86
F ;
64
- 6 63
82
2-2 8
80




4INEE- R

SEHME-#HAN

76(1)

3R

5-8

AIINEE - (R 7R
3-4

5B =15

7-8

SHHE-fHA

BATEKE R 2 =7 BFHERS

¥Rk264E5H31A~6H1H
o K R ST S A
12U T B FHTNVA
EERE (AAC) |
TWIHE (I7rF—TA)
2 bye — | A
, RH &5 (T7oF—TA) 86
EE EH  (TD7UF—TA) 4
4 TR B (T7oFx%—TA) | 82
ik A (T7oF%—TA)
12RA T F X T NVA
. kB kE (7o F—TA)
A mME (I7roid—TA) 2
81
PEE JUT (TFUE—TA) |
B8k 1€ (BLTENNIS)
4B TR FFTNVA
B BE O7ryFx—TA) |
BEHEE (I7rox—TA) L
82
CMEE A (O7uE—TA
E+&E BN (O7oF—TA)
4L T FE T NVA
AW ER - (AAC)
KE =B (BLTENNIS)
2 bye — | |
2-1
HH EFE  (AAC) | 81
#]K ¥k (AAC) ) 3
A Pk (BFI1=7T 97
INREEIE  (Bf1oa=7TC) . |
- fE# K3 (BLTENNIS) 86
=B HEE (IFoF—TA)
6 bye —
2-2 8
7 bye —_— 83
 HEER  (OrvF—TA__|
KE&HE (T7rox—TA)
230 IR TE B
3EHA 8
sgpm Kkl — O




